Algd slol 27|
1. A=2¢—y, B=— o — 3B £ AAtst b —b
A=, vy B 2A S S AR D 0ED TP o ar 4 6y B 0 9o o]
e o 410 2 LR H?
O z+4y @ z -8y ® Tx+4y
@ a2+ ab+ b2 @ a? + 2ab — 2b?
@ 7x—8y ® Tr+2
® a® + 3ab — 2> @ a? — 3ab — 2b?
® a2 — 3ab + 2b2
2. fr-2y=—-dax+y—-3 LW, 52 —-2y+5%E z
e Aoz vehfolet,
6. o2 AollA Pof #27 (R a#b#c)
a b c
P:
(@—b0a-o b-0b-a) (c—a)c—b)
@ o @1 ® 2 @ 3 ® 4
7x—3y—2:4x—2y—5°a]“H,4x—%y—7%x°ﬂ
T Aoz vepfolet,
. 3w+4 1 i}
7 ;_33:§<gu41,(x_1>_y+1%zoﬂ%—@
210 2 EPH?
@ 5z @ Tz ® 9z
@%m @%z
4. A:M%,B:%W%MLMWBw%x,

yE A&t YERH?

@© 9z +y—2 @ 9z —y—2

® 9 +y+2 @ 9z —y+2

® —9r+y—2

8. A = (12a°0° — 8a’h*)+(2ab)?, B = (4a®b* —
a?p?)+(—ab)>Q W, A — (B +20) = 3ab® + 1<
Qs 4 O T

® C=ab @ C = ab?
® C = —3ab? @ C = 3ab?
® C=—-ab




SESEES

folat, (2h o £ 1

S

=0,z o ge T

10. 22 —42+3
—r+1




